Reading task type one: summary completion
Complete the summary below. Choose your answers from the box at the bottom of the page and write them in boxes 1-8 on your answer sheet.

NB There are more words than spaces so you will not use them all. You may use any of the words more than once.

List of Words

passengers happy float advanced lifeboats confident dangers ocean

worried inadequate enormous excitement fast handbook water afloat

record fast procedures orders drown size sink safety

The Finest Ship Ever Built

The North Atlantic Ocean crossing on the Titanic was expected to set a

new standard for …(1)… travel in terms of comfort and …(2)… The

shipping industry had an excellent safety …(3)… on the North Atlantic

Crossing over the previous forty years and the Titanic was the finest and

safest liner ever built. The Titanic combined the greatest technology of the

day with sheer …(4)…, luxury and new safety features. The Titanic’s

owners were …(5)… that even if the Titanic were letting in …(6)… she

would …(7) … indefinitely until help arrived. In hindsight we know that the

Titanic was not unsinkable and that technology alone could not save lives

when facilities were …(8)… and humans did not follow safe …(9)…

whether because of arrogance or ignorance.
Reading task type two: matching headings to paragraphs
Choose the heading which best sums up the primary cause of the problem

described in paragraphs D, E, G, H and I of the text. Write the appropriate

numbers (i – x) in the boxes on your answer sheet.

List of Headings

i Ignorance of the impending disaster

ii Captain’s orders ignored

iii Captain’s over-confidence

iv Rough sea conditions

v Faulty design

vi Iceberg locations not plotted

vii Low priority placed on safety

viii Number of lifeboats adequate

ix Inadequate training

x Ice warnings ignored
Reading task type three: identifying the writer’s views
Do the following statements agree with the views of the writer in the

reading passage? In boxes 1-7 on your answer sheet write:

Yes If the statement agrees with the writer

No If the statement contradicts the writer

Not Given If it is impossible to say what the writer thinks about

this

1. The enormous loss of life on the Titanic was primarily caused by inadequate equipment, training and procedures.

2. Nobody had thought of installing enough lifeboats to accommodate all the passengers and crew in the event of an emergency.

3. Captain Smith didn’t inform his officers of the true situation because he didn’t want to cause a panic.

4. The lifeboats would have buckled if they had been fully loaded.

5. After the Titanic sank the lifeboats which were not full should have returned to rescue as many people from the water as they could.

6. The Captain of the Californian could have brought his ship to the rescue if he had realised that the Titanic was sinking.

7. The sinking of the Titanic prompted an overhaul of standard operating procedures which made ocean travel much safer.
Reading task type four: multiple choice
Choose the appropriate letters A-D and write your answers in boxes 1-3

on your answer sheet.

1. Which is most at fault for the magnitude of the Titanic disaster?

A. The ship

B. The Titanic’s owners and builders

C. Standard operating procedure

D. The captain and crew

2. The number of lifeboats on the Titanic …

A. would have been sufficient if all boats had been filled to

capacity

B. met the regulations for much smaller ships but not the Titanic

C. had been designed in 1894 by the British Board of Trade

D. could carry more people than required under the regulations

3. The Titanic was …

A. higher than the tallest buildings of her day

B. divided into 16 watertight compartments

C. unsinkable

D. the most technologically advanced liner of her time
Reading task type five: selecting factors
The writer mentions a number of factors related to poor communication

which contributed to the disaster. Which 3 of the following factors are

mentioned? Write your answers (A-H) in boxes 1-3 on your answer sheet.

A. The Titanic was travelling too fast.

B. Ships were not required to operate their wireless continually.

C. There were insufficient lifeboats on the ship.

D. The Titanic’s wireless was not operating around the clock.

E. Ice warnings were not dealt with systematically.

F. The Californian’s wireless had broken down.

G. The Titanic’s wireless had broken down.

H. Captain Smith did not give his officers enough information.
Reading task type six: table completion
Complete the table below using information from the reading passage.

Write no more than three words for each answer. Write your answers in

boxes 1-8 on your answer sheet.
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Reading task type seven: matching causes and effects
The reading passage describes a number of cause and effect

relationships. Match each cause (1-4) in List A with its effect (A-H) in List

B. Write your answers (A-H) in boxes 1-4 on your answer sheet.

NB There are more effects in List B than you will need, so you will not

use all of them. You may use any effect more than once if you wish.
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Reading task type eight: sentence completion
Complete the sentences below using words taken from the reading

passage. Use no more than three words for each answer. Write your

answers in boxes 1-3 on your answer sheet.

1. One positive outcome was that the inquiries into the Titanic disaster sought to improve safety procedures by initiating …(1)…

2. The Titanic’s safety feature, which convinced most people that she wouldn’t sink, was her …(2)…

3. Passenger ships across the North Atlantic Ocean had had an excellent safety record in the …(3)…
Reading task type nine: short answer questions
Using no more than three words, answer the following questions. Write

your answers in boxes 1-3 on your answer sheet.

1. Alexander Carlisle implied that the Titanic’s owners were more concerned about the ship’s appearance than what?

2. The laws of which government regulated the lifeboat requirements that the Titanic conformed to in 1912?

3. What term used in the passage tells the reader that this was the Titanic’s first journey?
